BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

10*

1000

rm644 2/(410996 —4861)=1.098

BIC 508973 22 ABIC 0. OOO AIogP 0.0000
i ' x 446138.28 Ax 0.000 AlogP 0.0000 7

I ; ABIC —402313 ]
: A? —402313

I 4861 : 4861 ]

L L L L | L L A L L | L L L L | L L L L | L |AC5| L | L L L L |

10 20 30 40 50 60

2/(410996 —4861)=1.098

_,
3

[e)]
N
N

BIC 508973 22 ABIC 0. OOO AIogP 0.0000
E- - R Z 446138.28 Ax 0.000 "AlogP "0.0000

PRt

b
>
O

o
ul

—_—
o
N
o
W
o
N
o
(o)
o
)]
(@]

Fe2 17% 1177116 km/s
rmeé44 BLR 9710 NLR 900 km/s

60

60 iterations

BIC

BLR

Fell
NLR

kdh1 12-0ct-2021 Q4:41



